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The drawings, photos and graphics used are for illustrative purposes only.
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c E M Additional fee for verification .'J’J.r-’ t

00000 (Additional Fee)
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RS2320RS485 0000
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000000 (Additional Fee)

+ E2R Weighingd 0 0 O [WX-010-0099]
+ RAD Key [WX-010-0005]
+ Alibi Reader [WX-010-0114]

77000000 +00000
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800x800 mm
1000%1000%x530 mm

76 kg

100 kg

IP66/69000000O0O0,IP66/67
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RS232, USB-A, 4IN, 40UT, Ethernet, Modbus RTU

100 - 240 V AC 50/60 Hz
25W
12-24VDC

-10 - +40 °C
-10 - +50 °C

10% - 80% RH 0 0 0 0
PUE HX7
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+ E2R Weighing Records 0 0 0 O O [WX-010-0038]
+ Label Editor R02 [WX-010-0094]
+ R-Lab [WX-010-0080]



+ Scale Editor 2.1 [WX-010-0173]
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+ RADWAG Development Studio [WX-010-0104]

Typ wagi Al A2 B
HX7.H6/Z 800 800 | 88+2
HX7.H7/Z 1000 | 1000 | 88+2
HX7.H8/Z 1200 | 1200 | 88+2
HX7.H8/Z* 1200 | 1200 | 111£2
HX7.H 8/9/Z 1200 | 1500 | 88+2
HX7.H8/9Z* 1200 | 1500 | 111%2
HX7.H9/Z 1500 | 1500 | 88+2
HX7.H9/Z* 1500 | 1500 | 111+2
HX7.H10/Z 1500 | 2000 | 111%2
HX7.H10/Z** | 1500 | 2000 | 166+2

b

*hax = gRPMax > 6000

* Max = 6000




